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VERB “TO BE”

IS

_<

AFFIRMATIVE

NEGATIVE

INTERROGATIVE

INTERROGATIVE QW

—=

—_

JOSE IS PLAYING

JOSE IS NOT PLAYING

¢é1S JOSE PLAYING?

IS NOT PLAYING

¢ WHAT IS JOSE PLAYING?

IS PLAYING FOOTBALL



VERB “TO BE”

IS

—

AFFIRMATIVE

NEGATIVE

INTERROGATIVE

INTERROGATIVE QW

—_—

HE IS MY DAD

HE IS NOT MY DAD

¢éIS HE MY DAD?

YES, HE IS YOUR DAD

¢ HOW IS MY DAD ?

IS BIG OLD



VERB “TO BE”

IS

—

AFFIRMATIVE

NEGATIVE

INTERROGATIVE

INTERROGATIVE QW

—=

—_—

THIS CAR IS RED

THIS CAR IS NOT RED

¢éISTHIS CAR RED?

ISNOT RED

¢WHATS COLOR IS CAR ?

IS RED



VERB “TO BE”

ARE

——
AFFIRMATIVE
NEGATIVE
_<
INTERROGATIVE

INTERROGATIVE QW

—=

—_

WE ARE IS CLASS

WE ARE IN NOT CLASS

¢ARE WE IN CLASS?

WE ARE NOT IN CLASS

¢ WHATS CLASS ARE WE IN ?

IN ENGLISH CLASS



VERB “TO BE”

IS

—

AFFIRMATIVE

NEGATIVE

INTERROGATIVE

INTERROGATIVE QW

—_—

—_—

HE IS LUIS

HE IS NOT LUIS

¢éIS HE LUIS?

HE IS NOT LUIS

¢ WHO IS LUIS?

THE BACKPACK HEIGHT



VERB “TO BE”

IS

——
AFFIRMATIVE
NEGATIVE
_<
INTERROGATIVE

INTERROGATIVE QW

—=

—_

VI

SHE IS SAMANTHA

SHE IS NOT SHAMANTHA

¢é1S SHE SAMANTHA?

YES SHE IS

¢ WHO IS SAMANTHA ?

SAMANTHA IS SHE THE JEANS



VERB “TO BE”

ARE

——
AFFIRMATIVE
NEGATIVE
_<
INTERROGATIVE

INTERROGATIVE QW

—=

—_

VI

THE ARE TWO EARRINGS

THE ARE NOT TWO EARRINGS

¢ARE THE EARRINGS TWO?

YES, THERE ARE TWO

¢ WHY THERE ARE TWO EARRINGS ?

BECAUSE THEY ARE PAIR



VERB “TO BE”

ARE

——
AFFIRMATIVE
NEGATIVE
_<
INTERROGATIVE

INTERROGATIVE QW

—=

—_

VI

WE ARE FRIENDS

WE ARE NOT FRIENDS

¢ARE WE FRIENDS?

YES, WE ARE VERY FRIENDS

¢ WHY WE ARE FRIENDS?

BECAUSE WE ARE IN THE SAME CLASS



VERB “TO BE”

——
AFFIRMATIVE
NEGATIVE
_<
INTERROGATIVE

INTERROGATIVE QW

—=

—_

YOU LIVE HERE

YOU DON'T LIVE HERE

¢DO YOU LIVE HERE ?

WE DON'T LIVE HERE

¢ SINCE WHEN DO YOU LIVE HERE?

SINCE TWO YEARS AGO



VERB “TO BE”

IS

_<

AFFIRMATIVE

NEGATIVE

INTERROGATIVE

INTERROGATIVE QW

—=

—_

SHE IS WORKING

SHE IS NOT WORKING

¢é1S SHE WORKING?

FOR THE MOMENT YES

¢ WHERE ARE WORKING?

IN THE MARKET



